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Current Ratio =
Current Asset

Current Liabilities
 

Quick Asset Ratio =
Current Asset −Inventories

Current Liabilities

Inventory Days Period =
Average Inventory

Cost of Goods Sold
 × 365
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Inventory Days Period =
365

Inventory Turnover Ratio

Inventory Turnover Ratio =
Cost of Goods Sold

Average Inventory

Receivable Days Ratio =
Average receivables

Turnover
 × 365

Receivable Days Ratio =
365

Receivarble Turnover Ratio

Receivable Turnover Ratio =
Turnover

AverageA C⁄  Receivable

Payable Days Ratio =
Average A C⁄  Payable

Purchases
 × 365

Payable Days Ratio =
365

Payable Turnover Ratio
 

Payable Turnover Ratio =
Purchases

Average A C⁄  Payable

WCC  =   No. of Days of Receivables + No. of Days Inventories − No. of Days Payables

=
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Q.2. Following information was extracted from the annual a/c of K PLC 

for the past 2 years. 
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Q.3. Following information is given below. 

  

 

 

Q.5. Following information is given below. 
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1.  the length of WCC. 
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